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&5 A AL LATH 2H4H 3H3H 4H9H 5H22H 6H9H TH7H 8 18H 9H15H 10H16H 11H10H 12H1H
K1 Al KR W 4 9:20 9:20 9:55 9:20 9:25 9:35 9:35 9:15 9:40 9:25 9:25 9:25
K2 | A2 BT i s s s s s Tl Tty Tty i it it
K3 | A3 PN i i P i & i i 2 2 2 Z el
K4 | A4 IKAVE m 50. 14 50. 83 50. 81 50. 49 50. 93 50. 57 50. 27 50. 32 50. 33 50. 50 50. 50 50. 37
K5 | A5 it it n®/sec 2.43 2.87 3.04 24. 32 67. 80 39. 50 15. 36 15. 08 15. 65 29. 15 30. 41 19. 30
K6 | A6 oy 87 m 0. 62 0.23 0.91 1.22 0.75 1.16 1.00 0.57 0. 63 0. 82 0.77 0. 69
K7 = A7 BRI m 0.12 0. 05 0.18 0.24 0.15 0.23 0.20 0.11 0.13 0.16 0.15 0. 14
K8 | A8 KR C -6.9 -7.5 -3.1 8.9 14.0 21.2 25.8 20.6 17.5 9.9 5.8 1.1
K9 | A9 KR C 0.6 0.6 0. 4 6.1 9.1 14. 1 20.6 18.2 14.8 8.5 8.6 2.6
K10 = A10 S8 (1) e 5, 75 e 5, 75 pgehei1l /3SR IR 4.5 e 5, 75 MmeFEY | EAEH | EaFY | BAEH ROt Bl
K11 | A1l sh8(2) g g g g g g g g g g g g
K12 | Al12 S8 (3) — — — — lGVEZY — — — — — EE2Y —
K13 = A13 S8 (4) — — — — — — — — — — — —
K14 = Al4 AR (R e 5L 5 5 5 5 5 5 5 5 5 5 5
K15 = Al5 B cm >100. 0 >100. 0 >100. 0 40.0 12.9 >100. 0 >100. 0 >100. 0 >100. 0 63.7 28.8 >100. 0
K17 | Al17 T i ) B 4 — — — — — — — — — — — —
K18 = A18 it e 2] 4y — — — — — — — — — — — —
K21 = Bl pH 7.7 7.5 7.7 7.8 7.7 7.8 8.0 8.0 8.0 7.8 7.8 7.7
K22 | B2 BOD mg/1 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 <0.5 0.6
K23 | B3 COD mg/1 1.3 — — — 2.3 — — 1.5 — — 1.6 —
K24 | B4 SS mg/1 2 2 2 22 71 7 1 4 5 11 26 4
K25 | B5 DO mg/1 14 14 14 13 11 11 9.4 10 10 12 12 14
K27 | B7 NI L MPN/100ml | 3.5 32 7.9 %1 3.3 %1 2.3 %1 4.9 %2 4.6 %1 1.7 %3 1.1 %3 7.0 %2 3.3 %2 4.6 %2 1.7 %2
K29 | B9 MEFR mg/1 0.36 0. 30 0. 25 0. 32 0.22 0.13 0.14 0.15 0.19 0. 22 0.29 0.24
K30 = B10 I mg/1 0. 004 0. 004 0. 004 0.013 0. 041 0. 006 0. 005 0. 007 0. 007 0.010 0. 026 0. 006
K41 = C1 B RIT A mg/1 — — — — — — — <0. 001 — — <0. 001 —
K42 | 2 BTV mg/1 — — — — — — — 0.1 — — 0.1 —
K43 | €3 fid) mg/1 — — — — — — — <0. 005 — — <0. 005 —
K44 | 4 6li 7 1 A mg/1 — — — — — — — <0. 02 — — <0. 02 —
K45 | C5 =S mg/1 — — — — — — — <0. 001 — — <0. 001 —
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Fh HHE AN 1ATH 2H4H 3H3H 4H9H 5H22H 6H9H 7TH7AH 8H18H 9H15H 10H16H 11H10A 12H1H
K46 | (6 kR mg/1 — — — — — — — <0. 0005 — — <0. 0005 —
7L L KER
K47 C7 GRRZK SRR S 7356 E i) mg/1 — — — — — — — — — — — —
K48 | (8 PCB mg/1 — — — — — — — <0. 0005 — — — —
K49 | €9 DYA=3=F & mg/1 — — — — — — — <0. 002 — — — —
K50 = C10 ok R R mg/1 — — — — — — — <0. 0002 — — — —
K51 | Cl1l | 1,2-¥Zwunx®y mg/1 — — — — — — — <0. 0004 — — — —
K52 | C12 1, 1-¥ZmuxFL mg/1 — — — — — — — <0. 002 — — — —
K53 | CI3 |v=-1,2-¥smuxzFLr|  mg/l — — — — — — — <0. 004 — — — —
K54 | C14 1,1,1-hYzuomxzXr  mg/l — — — — — — — <0. 001 — — — —
K55 | €15 1,1,2-hYzwomxzXy mg/l — — — — — — — <0. 0006 — — — —
K56 = C16 M) ZmpazFL v mg/1 — — — — — — — <0. 002 — — — —
K57 | C17 T hFZ/muTFL v mg/1 — — — — — — — <0. 0005 — — — —
K58 | C18 1,3-v7maru~<r0-D) mg/l — — — — — — — <0. 0002 — — — —
K59 = C19 FU 7 A mg/1 — — — — — — — <0. 0006 — — — —
K60 | €20 = (CAT) mg/1 — — — — — — — <0. 0003 — — — —
K61 | C21 |Fa~vhns (v Fih—7) mg/1 — — — — — — — <0. 002 — — — —
K62 = €22 _P mg/1 — — — — — — — <0. 001 — — — —
K63 = €23 L mg/1 — — — — — — — <0. 001 — — — —
K64 | C24  myEmEZHROMERMEEEZS  mg/l 0.32 — — — 0.15 — — 0. 055 — — 0.18 —
K65 | €25 o FH mg/1 — — — — — — — <0. 1 — — — —
K66 = (€26 EES mg/1 — — — — — — — 0. 02 — — — —
K134 | D4 ki) mg/1 <0. 001 <0. 001 <0. 001 0. 001 0. 003 <0. 001 <0. 001 <0. 001 <0. 001 0. 001 0.003 <0. 001
K161 El TR LEEH mg/1 <0. 05 — — — <0. 05 — — <0. 05 — — <0. 05 —
K162 E2 MAYRATE S R mg/1 <0. 005 — — — <0. 005 — — <0. 005 — — <0. 005 —
K163 E3 [EE3E S mg/1 0. 32 — — — 0.15 — — 0. 05 — — 0.18 —
K171 E11 | A4 Y ofeheY o~ mg/1 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
K179 E19 A HgHE R 3 (TOC) mg/1 0.6 — — — — — — — — — — —
K242 | G2 B E 1 2 1 24 78 7 2 1 4 17 42 4
K1362 X62 VRIS R AL fE/100m1 3.0 %0 0 1.0 %1 0 2.0 %1 0 3.0 %0 1.1 %1 1.3 %1 2.0 %1 1.5 %1 3.0 %0






